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Hkkx ,d / PART ONE 
¼lHkh iz’uksa ds mÙkj nsa½ / (Answer 

all the questions)  
 

1. izR;sd iz’u ds mÙkjksa ds dbZ 
fodYi uhps fn, x, gSaA ,d lcls 
mi;qDr fodYi pqusa vkSj mls 
fuEufyf[kr funsZ’kksa ds 
vuqlkj iz’u i= ds lkFk miyC/k 
djk, x, ^^vks,evkj** mÙkj i=d 
esa ntZ djsaA     
  ¼1x10½ 
Each question below gives a multiple 
choice of answers.  Choose the most 
appropriate one and enter in the “OMR” 
answer sheet supplied with the question 
paper, following instructions therein. (1x10) 

 

1.1 ,QVhih gS 
A) loZj lkbM ,afØI’ku izksVksdkWy  
B) nwjLFk daI;wVj ij Qkbyksa ds 

gLrkarj.k gsrq ,d fu;af=r dusD’ku  
C) ;wtj MsVkxzke izksVksdkWy  
D) ykWfxu vkSj ikloMZ lR;kiu ds 

ek/;e ls ;wtj dk izkf/kdj.k   
FTP is  

A) Server side encryption protocol 
B) Control connection to remote computer to 

transfer files 
C) User Datagram Protocol.  
D) Authorization of a user through login and 

password verification. 
 

1.2 DykbaV lkbM ,DlVsa’kul % 
A) loZj ij py jgh fLØIV esa dk;Z{kerk 

dks tksM+uk  
B) ;wtj daI;wVj ij py jgh fLØIV esa 

dk;Z{kerk dks tksM+uk 
C) usVodZ fMokbl ij py jgh fLØIV 

esa dk;Z{kerk dks tksM+uk 
D) Qk;jokWy fMokbl ij py jgh fLØIV 

esa dk;Z{kerk dks tksM+uk 

Client-side extensions: 
A) Add functionality to the script running on 

Server. 
B) Add functionality to the script running on user 

Computer. 
C) Add functionality to the script running on 

network devices 

D) Add functionality to the script running on 
firewall devices 

 
 
 
 
 
 
 

1.3 daI;wVj dks baVjusV ls tksM+us 
ds fy,] ----------------- ds ek/;e ls 
tksM+k tkrk gS 

A) baVjusV vkfdZVsDpj cksMZ  
B) baVjusV lkslk;Vh  
C) baVjusV lsok iznkrk  
D) mfYyf[kr esa ls dksbZ ugha 

 To join on the Internet, the computer has to be 
connected through the 

A) Internet architecture board 
B) Internet society 
C) Internet service provider 
D) none of the mentioned 
 

1.4 dkSu lk izksVksdkWy baVjusV 
esa DykbaV ls dusDV djus ds fy, 
vkbZih ,Mªsl vlkbu djrk gS\ / Which 
protocol assigns IP address to the client 
connected in the Internet? 

A) DHCP 
B) IP 
C) TCP 
D) Telnet 
 

1.5 vkbZvkjlh dk vFkZ gS 
A) baVjusV fjysVsM pSV 
B) baVjusV fjys pSV 
C) baVjusV fjysVsM daVsaV 
D) baVjusV fjyk;cy daVsaV 

IRC stands for 
A) Internet Related Chat 
B) Internet Relay Chat 
C) Internet Related Content 
D) Internet Reliable Content 
 

1.6 ------------- ,d fof’k”V la[;kvksa dh 
Ja`[kyk gS tks baVjusV dks 
daI;wVj ls dusDV djus dh igpku 
djrk gSA izR;sd vkWuykbu 
daI;wVj dk ,d baVjusV ,Mªsl gksrk 
gSA  

A) bFkjusV  
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B) baVjusV izksVksdkWy  
C) baVjusV ,Mªsl  
D) ,DLVªkusV ,Mªsl 

An _______ is a series of unique numbers that 
identifies a computer connected to the Internet. 
Every computer that gets online has an 
Internet address. 

A) Ethernet 
B) Internet Protocol 
C) Internet Address 
D) Extranet Address 
 
 
 
 
 
 

1.7 baVhxzsVsM lfoZlst QkWj fMftVy 
usVodZ ¼vkbZ,lMh,u½ blds ,d 
lkFk fMftVy izlkj.k ds fy, lapkj 
ekudksa dk lsV gS % 

A) okWbl  
B) fofM;ks  
C) MsVk 
D) mijksDr lHkh 

Integrated Services for Digital Network (ISDN) 
is a set of communication standards for 
simultaneous digital transmission of: 

A) voice 
B) video 
C) data 
D) All of the above 
 

1.8 HTML esa gkbijfyad dSls ifjHkkf”kr 
djrs gSa ftlls og ,d U;w ist esa 
vksiu gks / How to define hyperlink to open 
in New Page in HTML 

A) <a href=”http://www.aiims.edu”  
target=”Blank”>Click Here</a>  

B) <a href=”http://www.aiims.edu”  
target=”_Blank”>Click Here</a> 

C) <a href=”http://www.aiims.edu”   
target=”#Blank”>Click Here</a>  

D) <a href=”http://www.aiims.edu”   
target=”New”>Click Here</a> 

 

1.9 osclkbV dk vFkZ gS % / Website 
means: 
A) URL + Web Space + HTML Content 
B) URL + Web Space + Name Resolution 
C) URL + Web Space + Name Resolution + HTML 

Content 
D) HTML Content + Web Space + Name Resolution 
 

1.10 Qk;jokWy ml IokbaV ij baLVkWy 
fd;k tkrk gS tgka lqjf{kr baVjusV 
usVodZ vkSj vlqjf{kr ckg~; 
usVodZ gksrs gSa ftlds IokbaV 
dks ------------- ds :Ik esa tkuk tkrk 
gSA  

A) Pkksd IokbaV  
B) ehfVax IokbaV 
C) Qk;jokWy IokbaV 
D) flD;ksj IokbaV 

A firewall is installed at the point where the 
secure internal network and un-trusted external 
network meet which point is known as 

A) Choke point 
B) Meeting point 
C) Firewall point 
D) Secure point 
 
 
 
 
 

 
 

2- uhps fn, x, izR;sd fooj.k ;k rks 
lR; ;k vlR; gSA ,d lcls mi;qDr 
fodYi pqusa vkSj mls 
fuEufyf[kr funsZ’kksa ds vuqlkj 
iz’u i= ds lkFk miyC/k djk, x, 
^^vks,evkj** mÙkj i=d esa ntZ 
djsaA         (1x10) 

 

2-1 HTML VSXl dsl laosnu'khy (case 

sensitive) gaSA  
2-2 ,evkbZ,ebZ ¼MIME½ dk vFkZ gS 

eYVh izksxzke baVjusV esy 
,DlVsa’kulA 

2-3 cSd vkSj QkWoZMZ cVu mlh 
osclkbV ij dsoy ist dks ns[kus 
ds fy, mi;ksx fd;k tk ldrk gSA 

2-4 fjÝs’k cVu gkse ist ij okil tkus 
ds fy, gSA  

2-5 bZ&esy VsDLV vk/kkfjr lans’k 
rd lhfer gSA  
2-6 osc czkmtj baVjusV ij lfQZax 

djrs le; vkidks MkmuyksM dh 
lqfo/kk nsrk gSA   
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2-7 fjax Vksiksy‚th esa usVodZ ,d 
jsihVjks  dk lsV gksrk gS tks dh 
i‚baV Vq i‚baV fyad }kjk ,d 
DyksTM ywi esa tqM+k gksrk 
gSA 

2-8 ,l,eVhih ¼SMTP½ dk fMQkWYV 
iksVZ 25 gSA  

2-9 DykbaV lkbM ij cSd & ,aM vkSj 
loZj lkbM ij ÝaV & ,aM dksM ju 
djrk gSA  

2-10 ,Vh,e ¼ATM½ gLrkarj.k fof/k ds 
ekeys esa vkWVksesfVd Vsyj 
e’khu gSA 

 
2. Each statement below is either TRUE or 

FALSE.  Choose the most appropriate one 
and enter your choice in the “OMR” answer 
sheet supplied with the question paper, 
following instructions therein.   (1x10) 

 
2.1 HTML Tags are case sensitive.  
2.2 MIME stands for Multi-Program Internet Mail 

Extensions.  
2.3 The Back and Forward buttons can be used to 

visit only pages from the same website.  
2.4 Refresh button returns to home page. 
2.5 E-mail is limited to text based messages. 
2.6 Web browser lets you download while surfing 

the Internet. 
2.7 In the ring topology, the network consists of a 

set of repeaters joined by point-to-point links in 
a closed loop. 

2.8 Default port of SMTP is 25. 
2.9 Back-end code runs on Client side and front-

end on Server side. 
2.10 ATM is Automatic Teller Machine in terms of 

Transfer Mode. 
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3- dkWye X esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye Y esa fn, x, 
fudVre lacaf/kr vFkZ @ ‘kCnksa @ okD;ksa ls djsaA muesa fn, x, 
vuqns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds lkFk fn, x, 
^^vks,evkj** mÙkj i=d esa ntZ djsaA                                  
        ¼1x10½ 

 

   X   Y 

3-1 ,d ,Iyhds’ku ys;j izksVksdkWy tks VsDLV ds 
:i esa lapkj dh lqfo/kk nsrk gSA 

A. bysDVªkWfud 
dkWelZ 

3-2 ekdZvi ySaXost B. (n-1)/2 

3-3 iwjh rjg ls dusDV es’k VksiksykWth esa n 
uksM~l dusDV djus ds fy, fyaDl dh la[;k -----
---------------- gSA 

C. n(n-1)/2 

3-4 baVjusV dk mi;ksx dj izksM~DVl vkSj lfoZl 
esa O;kikj djukA  

D. odZLVs’ku  

3-5 loZj lkbM fLØfIVax ySaXost  E. TkkokfLØIV  
3-6 ,d oSKkfud ,Iyhds’ku ds fy, fMtkbu fd;k x;k 

fo’ks”k daI;wVj gSA  

F. XML 

3-7 -------------------- tks vkidks baVjusV ij ,Dlsl 
iznku djrh gSA  

G. eYVhehfM;k  

3-8 bl rjg ds lans’k ;k tkudkjh dh ,adksfMax dh 
izfØ;k tks dsoy vf/kÑr nyksa }kjk i<+h tk ldrh 
gSA  

H. usVodZ vkfdZVsDpj 

3-9 usVodZ VksiksykWth ------------------- ds :Ik 
esa lanfHkZr gSA  

I. baVjusV fjys pSV 
¼vkbZvkjlh½ 

3.10 fofHkUu daVsaV QkWElZ dk la;kstu J. DHCP 

  K. ,fDVo loZj ist ¼,,lih½ 
  L. baVjusV lsok iznkrk 

¼vkbZ,lih½ 
  M. ,afØI’ku 
 

4- uhps fn, x, izR;sd okD; esa uhps nh xbZ lwph ls ,d ‘kCn ;k okD; dks 
[kkyh LFkku esa yxk,aA lcls mi;qDr fodYi pqusa vkSj mls fuEufyf[kr 
vuqns’kksa ds vuqlkj iz’u i= ds lkFk fn, x, ^^vks,evkj** mÙkj i=d esa 
viuk fodYi ntZ djsaA             
     ¼1x10½ 

 

A. FTP B. ARPANET C. gSfdax 
D. gLrk{kfjr Qkby  E. Ckl F. gkbtSfdax 
G. lpZ batu H. DykbaV lkbM  I. izkbosV dh  
J. ySu  K. flesfVªd 

fØIVksxzkQh  

L. ikWi3 
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M. vflesfVªd 
fØIVksxzkQh 

    

 

4-1 dks,fDl;y dscy --------------- VksiksykWth ds fy, mi;qDr gSA 
4-2 --------------- ,d NksVh VsDLV Qkby gS tks vki vius bZ&esy uksV~l ;k 

;wtusV lans’kksa dh lekfIr ij cuk ldrs gSaA 
4-3 --------------- bZ&esy izkIr djus ds fy, izksVksdkWy ekud gSA   
4-4 --------------- izksxke gSa tks MkWD;wesaV ds fufnZ”V dhoMZ vkSj 

fjVuZ fyLV ds fy, MkWD;wesaV dks lpZ djrs gSa tgka dhoMZ ik, x,A  
4-5 tkokfLØIV --------------- fLØfIVax ySaXost gSA  
4-6 daVªksy dusD’ku vkSj MsVk dusD’ku --------------- esa mi;ksx fd, tkrs 
gSaA  
4-7 ---------------,d vkjafHkd iSdsV fLofpax usVodZ Fkk vkSj izksVksdkWy 

lqbV Vhlhih@vkbZih ds dk;kZUo;u ds fy, igyk usVodZ gSA   
4-8 --------------- daI;wVj vijk/k ds :Ik esa tkuk tkrk gSA   
4-9 ---------------,d usVodZ gS tks lacaf/kr NksVs {ks= esa] vke rkSj ij ,d 

Hkou ;k Hkouksa ds lewgksa esa daI;wVj vkSj vU; fMokbl dks dusDV 
djrk gSA  

4-10 --------------- fØIVksxzkQh gS ftlesa ^dh^ dks tksM+s dks lans’kksa dks 
,afØIV vkSj fMfØIV djus ds fy, mi;ksx fd;k tkrk gS rkfd ;g lqjf{kr :Ik esa 
vk,A  

 
3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in 

column Y.  Enter your selection in the “OMR” answer sheet supplied with the question paper, 
following instructions therein.                (1x10) 

 
   X   Y 
3.1 An application layer protocol that facilitates 

communication in the form of text. 
A. Electronic Commerce 

3.2 Markup Language. B. (n-1)/2 
3.3 Number of links to connect n nodes in a fully 

connected mesh topology is ________. 
C. n(n-1)/2 

3.4 Trading in products or services using the Internet. D. Workstation 
3.5 Server-side scripting language. E. JavaScript 
3.6 A special computer designed for scientific applications. F. XML 
3.7 ________ that provides you with access to the 

Internet. 
G. Multimedia  

3.8 The process of encoding messages or information in 
such a way that only authorized parties can read it.  

H. Network Architecture 

3.9 Network topology is also referred as ..... I. Internet Relay Chat (IRC) 
3.10 Combination of different content forms. J. DHCP 
  K. Active Server Pages (ASP) 
  L. Internet Service Provider (ISP) 
  M. Encryption  
 
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.  

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with 
the question paper, following instructions therein.                       (1x10) 

 
A. FTP B. ARPANET C. Hacking 
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D. Signature File E. Bus F. Hijacking 
G. Search engines H. Client side I. Private Key 
J. LAN K. Symmetric Cryptography L. POP3 
M. Asymmetric Cryptography     

 
4.1 Coaxial cable is suitable for ________ topology. 

4.2 A ________ is a short text file you create to append at the end of your e-mail notes or Usenet messages. 

4.3 ________ is a standard protocol for receiving e-mail. 

4.4 ________ are programs that search documents for specified keywords and returns a list of the documents 

where the keywords were found. 

4.5 Javascript is a ________ scripting language. 

4.6 Control connection and Data Connection are used in ________. 

4.7 The ________ was an early packet switching network and the first network to implement the protocol suite 

TCP/IP. 

4.8 ________ is known as Computer crime. 

4.9 A ________ is a network that connects computers and other devices in a relatively small area, typically a 

single building or a group of buildings. 

4.10 ________ is cryptography in which a pair of keys is used to encrypt and decrypt a message so that it 

arrives securely. 
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Hkkx nks / PART TWO 
¼fdUgha pkj iz’uksa dk mÙkj nsa½ / 

(Answer any FOUR questions) 
 
5. 

a) ifCyd ^dh^ fØIVksflLVe ¼Public Key 

Cryptosystem½ le>k,aA  
b) dSls irk pyrk gS ;fn vki ,d baVjusV 

geys dk f’kdkj gksrs gSa\ 
c) tkokfLØIV ¼JavaScript½ tkok 

¼Java½ ls dSls fHkUu@vyx gS\ 
a) Explain the Public Key Cryptosystem. 
b) How to know if you have been a victim of an Internet 

attack? 
c) How is JavaScript different from Java? 

(5+5+5) 
 
6. 

a) ,l,eVhih ¼SMTP½] ikWi3 ¼POP3½ 
vkSj vkbZ,e,ih ¼IMAP½ ds chp varj 
crk,a\  

b) esVk lpZ batu D;k gS\ 
c) ist cukus ds fy, ,pVh,e,y ¼HTML½ 

dksM fy[ksa tks Name, Male/Female (Radio 
Button), Address, City (drop down), Hobby (Check 

box) vkSj Submit rFkk Reset cVu okys 
Lohdkj djrk gSA 

a) Differentiate between SMTP, POP3 and IMAP? 
b) What is a Meta Search Engine? 
c) Write a HTML code to create a page which accepts 

Name, Male/Female (Radio Button), Address, City 
(drop down), Hobby (Check box), and having Submit 
and Reset buttons. 

(5+4+6) 
 
7. 

a) lekt ij baVjusV ds ldkjkRed vkSj 
udkjkRed izHkko fy[ksaA    

b) fuEufyf[kr rkfydk cukus ds fy, 
,pVh,e,y ¼HTML½ dksM fy[ksaA 

 

c) fofHkUu bZ&dkWelZ ekWMy 
D;k gSa\ 
 
 

 
 
 
 
 
 
 
 
a) Write positive and negative impact of the 

Internet on society. 
b) Write a HTML code to create a following table: 
 

 
c) What are the various E-commerce Models? 

(5+5+5) 

 
8. 

a) bZ&esy ,afØI’ku D;k gS\ bldsk ,d 
mnkgj.k ds lkFk le>k,aA 

b) ,pVh,e,y ¼HTML½ esa fuEufyf[kr 
ÝselsV cuk,a % 

 

                  XYZ Public School 
                   Indipuram, Amrawati, Hyderabad 

About 
Organisation 
Corporate 
Contact Us 
Search 

 
 
 
 
 

 

c) ikfjHkkf"kd 'kCn 
dksykscksjsVho daI;wfVax dks 
le>k,aA 

a) What is Email Encryption? Also, explain with an 
example. 

b) Create following frameset in HTML: 
 

                  XYZ Public School 
                   Indipuram, Amrawati, Hyderabad 

About 
Organisation 
Corporate 
Contact Us 
Search 

 
 
 
 
 

 
c) Explain the term collaborative computing. 

(6+4+5) 
 

jsy 
uacj 

jsy dk uke le; 
vkxeu izLFkk

u 
14854 Marudhar Express 5:30AM 5:45AM 
16381 Guwahati Express 6:50AM 7:15AM 
19877 Chennai Express 8:00AM 8:30AM 

Train Number Train Name Timing 
Arrival Departure 

14854 Marudhar Express 5:30AM 5:45AM 
16381 Guwahati Express 6:50AM 7:15AM 
19877 Chennai Express 8:00AM 8:30AM 
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9- fuEufyf[kr ikfjHkkf"kd 'kCnksa 
dks le>k,a % 

a) ,QMhMhvkbZ ¼FDDI½  
b) DykbaV loZj ekWMy 
c) Qk;jokWy 

Explain the following terms: 
a) FDDI 
b) Client Server Model 
c) Firewall 

(5+5+5) 
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